EARAROBEEIERT — 2 N— IBISH —F

20

145118288 (&) 14EIAX3#5H

R REXA

5

EZS

‘ [REBE] — | & (A) 14000 &

[A~&E£] 172,500,000  ~ 23 :875,000 37 :500,000 F

4 7% 1375,000 5 3& : 250,000 [

WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S0 = seas N SHER :29. -3 . — AEfE= (KH#)
EEPE ST S o2 s 1(2_9)3 3-3-3  [37.9 1 (459) e
v NnNy&>h71x Biky hv2R RERRE AR
. i 2 | RERZ 1:29.4 2-2-1 3.1 — 3 473 | REKX (KH)
N k=2 54.0 (3/4) (=) |HEEMH
R:F1—T2h4 B:Vx/T7 H—L—-JvIX> - T7—LARS
. Py . 5 - BEEH (K3H)
JENTA i 2 S 1.(350>.5 4-5-5 | 38.7 5 (435) /J\ﬁl—;e
x> inAA—- BA T3~ FE &
K 4 2 | EEXREH 1:30.6 5-3-4 |39.1| — 2 500 | KEZEH (KH)
J—AU—X 55.0 (1/2) (=) EIIET
RiAUF YL IR BHYY—LAF A BER
X S L35 f 2 | FEF 1:31.2 7-6-5 [ 39.1| — | 4 | 440 |FEIUBSIE (D)
50717173 /9+v3-3 54.0 ® ) |Kagmmx
L:TA=—T4FAF=—H> B:¥+v3I-F LalCtie ]
RTI Ail%EE :31. == . — IEEER (K3H)
61111 |77 TH = ot 2 55.0 1(333)7 408 6 (514) mggiﬁ?q—
R:T7INTI5T BATUIH—ZNL AR
SR t 2 | AEEX 1:32.7 6-7-7 | 40.3| — 7 465 | REEE (XH)
7 6| LTTFLTR * 55.0 (5) () HRENY R (#)
LT A —FAFAF XYL BRENIF LA 77— L
® I —F—EBIERL
13—7+—
A== 1,4,2,5,3,6,7
Jol=5r= 1,4,(2,3),5,7,6
43—F— (1,4),2,3,(5,7),6
[ N3
BB 2 140 714K 2-4 140H B = 2-4 430M 3EHE 2-4-5 1,030H
8 B 2 110 2= 400M B H 2-4 520M K31 2-4-5 2,300
4 1704 4-5 730

ABICOVWTRDTEEERROODE. TR LIV,




